Nombres Relatifs (E)
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5 + = 12
7 + = 12
- 5 =7
12 - _ =5
7 + 5 = _
5 + = 12
12 - 7 = _
12 - 5 = _
__+ 6 = 12
__+ 6 = 12
12 - 6 = _
- 6 = 6
1 + _ = 12
11 + 1 = _
-1 = 11
12 - =1
__+ 1 = 12
1 + _ = 12
12 - =1
-1 = 11

12
12

12
12

Mathslibres.com




Nombres Relatifs (E) Réponses

S |00 o |

Remplissez I'espace vide.

5
7
12

12

N oot [N

12
12

S S o oy

oy O O OO

|§ 5o w

O W W O

I
_
WNJNL\J

vl 3N G

w O

lw O O W

_ =
N|N©|w

O© W W O

|
=

NN

I
W ©

o O O O

5o NG

N o1 o1

IS S o o

o O O OO

I
o o |§ |§

—_
H’_\L_x

12
12
11

5o N @

N U1 01N

g (01 o

[
~ 2 e -

12
12

11

& o Oy O

Mathslibres.com




